adicdo de fragdes (fragdo adequada) (fragdo
impropria)

Nome: Encontro: Data: Pontuagao:

7 3 1 3
2 5 4 9
7 3 1 1
5 5 3 9
5 7 6 2
9 4 7 6
7 6 4 1
6 5 7 9
5 3 2 1
6 2 7
7 1 7 2
3 5 6 4
5 4 2 7
9 7 4 8
6 4 5 5
8 6 8 8
2 4 2 1
5 5 8 6
7 5 S 7
6 2 2 6
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E!I @ adigio de fragdes (fragdo adequada) (fragdo
= impropria)

Nome: Encontro: Data: Pontuacao:
7 3 4l 1 I 3 7

— 4+ =— =4— 4=

2 5 10 10 4 9 12

7 3 I 1 4
—+=-=2 4=

5 5 3 9 9

5 7 83 11 6 2 25 4
—pl=—=2— —+Z=
9 4 36 36 7 6 1 21
7 6 71 11 4 1 43
b= =2— =

6 5 30 30 7 9 3

5 3 7 1 2 1 3

S+ =-=2= Z4+2=2

6 2 3 3 77

7 1 38 8 7 2 5 2
o= =2 _+Z2=2212
3 5 15 15 6 4 3 3
5 4 71 8 2 7 11 3
o= —=1—= e
9 7 63 63 4 8 8 8
6 4 17 5 5 5 5 1
= —=1= S4Z==1-
8 6 12 12 8 8 4 4
2 4 6 1 2 1 5

S =—=1= Sy =2

5 5 5 5 8 6 12

7 5 11 2 5 7 11 2
— 4+ =_=3Z 4+ =_=3C
6 2 3 3 2 6 3 3
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